  CHAPTER 9
PROBLEMS

Prob. 9–1A

1.




Land

Other


Item
Land
Improvements
Building
Accounts


a.
$
5,000


b.
160,000


c.
3,500


d.
17,500


e.
16,250


f.
12,500


g.
(4,500)*


h.
11,000


i.


$
7,200


j.


50,000


k.



$
2,500


l.



1,800


m.

$
12,000


n.

18,500


o.



(4,000)*


p.


65,000


q.



(1,000,000)*


r.


1,250,000


s.





(1,200)*

2.


$221,250
$
30,500
$
1,371,000

*Receipt

3.
Since land used as a plant site does not lose its ability to provide services, it is not depreciated. However, land improvements do lose their ability to provide services as time passes and are therefore depreciated.

Prob. 9–2A

Depreciation Expense



a. Straight-
b. Units-of-
c. Declining-



Line
Production
Balance


Year
Method
Method
Method


2005
$
50,000
$
68,800
$107,000


2006
50,000
60,800
53,500


2007
50,000
38,400
26,750


2008

50,000

32,000

12,750

Total
$200,000
$200,000
$200,000

Calculations:


Straight-line method:



($214,000 – $14,000) ÷ 4 = $50,000 each year


Units-of-production method:



($214,000 – $14,000) ÷ 31,250 hours = $6.40 per hour



2005:
10,750 hours @ $6.40 = $68,800



2006:
9,500 hours @ $6.40 = $60,800



2007:
6,000 hours @ $6.40 = $38,400



2008:
5,000 hours @ $6.40 = $32,000


Declining-balance method:



2005: $214,000 × 50% = $107,000



2006: ($214,000 – $107,000) × 50% = $53,500



2007: ($214,000 – $107,000 – $53,500) × 50% = $26,750



2008: ($214,000 – $107,000 – $53,500 – $26,750 – $14,000*) = $12,750



*Book value should not be reduced below the residual value of $14,000.

Prob. 9–3A

a.
Straight-line method:




2005: [($194,400 – $10,800) ÷ 3] × 1/2

$30,600




2006: ($194,400 – $10,800) ÷ 3

61,200




2007: ($194,400 – $10,800) ÷ 3

61,200




2008: [($194,400 – $10,800) ÷ 3] × 1/2

30,600

b.
Units-of-production method:




2005: 4,650 hours @ $8*

$37,200




2006: 7,500 hours @ $8

60,000




2007: 7,350 hours @ $8

58,800




2008: 3,450 hours @ $8

27,600



*($194,400 – $10,800) ÷ 22,950 hours = $8 per hour

c.
Declining-balance method:




2005: $194,400 × 2/3 × 1/2

$64,800




2006: ($194,400 – $64,800) × 2/3

86,400




2007: ($194,400 – $64,800 – $86,400) × 2/3

28,800




2008: ($194,400 – $64,800 – $86,400 – $28,800 – $10,800*)

3,600



*Book value should not be reduced below $10,800, 
the residual value.

Prob. 9–4A

1.




Accumulated



Depreciation
Depreciation,
Book Value,


Year
Expense
End of Year
End of Year

a.
1
$36,000
$
36,000
$124,000


2
36,000
72,000
88,000


3
36,000
108,000
52,000


4
36,000
144,000
16,000

b.
1
$80,000
$
80,000
$
80,000


2
40,000
120,000
40,000


3
20,000
140,000
20,000


4
4,000
144,000
16,000

2.
Book value of old equipment

$
20,000


Boot given (cash and notes payable)


176,000

Cost of new equipment

$
196,000
or


Price of new equipment

$
200,000


Less unrecognized gain on exchange


4,000

Cost of new equipment

$
196,000
3.
Accumulated Depreciation—Equipment

140,000


Equipment

196,000




Equipment


160,000




Cash


16,000




Notes Payable


160,000

4.
Accumulated Depreciation—Equipment

140,000


Equipment

200,000


Loss on Disposal of Fixed Assets

7,200




Equipment


160,000




Cash


16,000




Notes Payable


171,200

Prob. 9–5A

2005

Jan.
2
Delivery Equipment

37,000




Cash


37,000


5
Depreciation Expense—Delivery Equipment

2,000




Accumulated Depreciation—Delivery Equipment


2,000


5
Accumulated Depreciation—Delivery Equipment

2,000




Delivery Equipment


2,000


5
Delivery Equipment

5,000




Cash


5,000

Apr.
7
Truck Repair Expense

125




Cash


125

Dec.
31
Depreciation Expense—Delivery Equipment

10,000




Accumulated Depreciation—Delivery




Equipment [25% × ($37,000 – $2,000 + $5,000)]


10,000

2006

Jan.
1
Delivery Equipment

80,000




Cash


80,000

Mar.
13
Truck Repair Expense

180




Cash


180

2006

Apr.
30
Depreciation Expense—Delivery Equipment

2,500




Accumulated Depreciation—Delivery




Equipment [25% × ($40,000 – $10,000) × 1/3]

2,500


30
Accumulated Depreciation—Delivery 
Equipment

12,500



Cash

24,500



Loss on Disposal of Fixed Assets

3,000




Delivery Equipment


40,000

Dec.
31
Depreciation Expense—Delivery Equipment

16,000




Accumulated Depreciation—Delivery




Equipment (20% × $80,000)


16,000

2007

July
1
Delivery Equipment

45,000




Cash


45,000

Oct.
2
Depreciation Expense—Delivery Equipment

9,600




Accumulated Depreciation—Delivery




Equipment [9/12 × 20% ($80,000 – $16,000)]


9,600


2
Cash

63,075



Accumulated Depreciation—Delivery 
Equipment

25,600




Delivery Equipment


80,000




Gain on Disposal of Fixed Assets


8,675

Dec.
31
Depreciation Expense—Delivery Equipment

4,500




Accumulated Depreciation—Delivery




Equipment (1/2 × 20% × $45,000)


4,500

Prob. 9–6A

1.
a.
Goodwill is not amortized.


b.
$225,600 ÷ 8 years = $28,200; 1/2 of $28,200 = $14,100


c.
$820,000 ÷ 4,000,000 board feet = $0.205 per board foot; 550,000 board feet × $0.205 per board foot = $112,750

2.
a.
No entry for goodwill amortization.


b.
Amortization Expense—Patents

14,100




Patents


14,100


c.
Depletion Expense

112,750




Accumulated Depletion


112,750
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